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7 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM#%#8% % — - ~ — —|3m%iBZ B — ~ — — —
s 1.00 | 0.00 ~ 5.40 67.42 | FnLSY | 000 ~ 0.00| 1.65 882 ThList 1.00 | 6.00 ~ 6.00 67.42 | =TSt | 500 ~ 6.00| 1.65 8.82
2 100kN/mM##BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM%E#8% % — - ~ — — |3mEFBZ B -~ — — —
ZhnLst 1.00 | 000 ~ 650 81.91 | =hLst | 000 ~ 0.00)| 1.64 878 zhLst 1.00 | 5.00 ~ 800 81.91 | #hst | 5,00 ~ 800 | 1.64 878
3 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM#%E#8% % — - ~ — — |3ImEBZ D -~ — — —
s 1.00 | 0.00 ~ 731 95.09 | #nLs | 0oo ~ 731|201 10.74 ThList 1.00 | 6.00 ~ 10.00 93.09 | =hs | 5,00 ~ 1000 2.01 10.74
4 100kN/m%E#8z5 | 1.00 | 000 ~ 062 10923 |3m&E#Bz5| — ~ — — — | 100kN/m%#82% | 1.00 | 1055 ~ 1229 109.23 |3m%E#BZ% — ~ — — —
st 1.00 | 0.62 ~ 841 100.00 | =0t | 0.00 ~ 841|222 11.86 ThList 1.00 | 6.00 ~ 1055 100.00 | =nst | 6,00 ~ 1229| 2.22 11.86
5 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM#%E#8% % — - ~ — — | 3mET A - ~ — — —
s 1.00 | 0.00 ~ 6.80 85.97 | #nLS | 000 ~ 680 1.76 941 ThList 1.00 | 6.00 ~ 829 85.97 | =hs | .00 ~ 829 1.76 941
p 100kN/mM#E#BZ % — - ~ — —|3mZBZzB| — ~ — — — | 100kN/mM%E#8% % — - ~ — — | 3mZEBAD -~ — — —
ZhLst 1.00 | 000 ~ 477 59.41 | ThLs 000 ~ 4.77| 1.76 9.40 zhLst 1.00 | 6.00 ~ 6.00 59.41 | #hst | 5.00 ~ 56.00| 1.76 9.40
7 100kN/mM%#BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — — | 3mE A5 — ~ — — —
ThLst 1.00 | 0.00 ~ 4.78 59.561 | =hLs | 000 ~ 478 1.73 9.24 ZhnLst 1.00 | 6.00 ~ 5.00 59.561 | #=hst | 5.00 ~ 56.00| 1.73 924
P 100kN/MZ#2Z % — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — | 3m%EiER S -~ — — —
ThLst 1.00 | 0.00 ~ 4.22 52.71 | #hbst | 000 ~ 422 201 10.78 FhnLst 1.00 | 6.00 ~ 56.00 52.71 | #hst | 6.00 ~ 6.00 | 2.01 10.78
100kN/M%#22 % ~ 3ImEHEAD ~ 100kN/ M%Z#BZ % ~ 3mEEZD ~
zhsn ~ zhst ~ Thsn ~ Zzhust ~
100kN/MZ#2 2 % ~ 3mEHEAD ~ 100kN/ M%Z#BZ % ~ 3mEBZD ~
Thilst ~ Thilst ~ ZhLlst ~ zhust ~
100kN/MZ#2 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ zhst ~ Thsn ~ ZzhLst ~
100kN/mM%#2Z % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/MZ#2 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ zhs ~ Thsn ~ ZzhLst ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ M%Z#BZ % ~ 3ImEBZ D ~
Thilst ~ ThLlst ~ Thsn ~ Zzhust ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ M%Z#BZ % ~ 3mEBZD ~
Thsn ~ zhst ~ Thsn ~ ZhLst ~




